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Intercaste marr (F90 150 =3 o difem)

. RHEH bct - ' i
Im“.rt:ascd, e Ween castes which have socio

. ~economic parity have
e e e
€ extent, but this g less true of interreligio

us marriages. Discuss.
(Answer in 150 words)
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(I 150 w=at # Hifsm)
In dealing with 80¢Cio-economic %

betw sues of development, what kind of collaboration
SEn gm’em[' NGOs and private sector would be most productive?
=

/ . (Answer in 150 words)

Ll "Wﬁ%ﬂmﬁamﬂﬁmwﬁﬁéﬁﬁaﬁmaw%@ﬁmmﬂ%
TR 3 ot 3R age e A A B s 20 R R (I 250 e & i)

uT%“mgh the great Cholas are no more yet their name is still remembered with great
pride because of their highest achievements in the domain of art and architecture.”

Comment, (Answer in 250 words)

. & FE FEl 9% 3 ¥ B wuw ez oe wie-dgen @ F R e T
(3| 250 7= A Hifem)

How far is it correct to say that the First World War was fought essentially for the
presgrvation of balance of power? (Answer in 250 words)

13/ v § weifien sl 20 =il % gm & R o 9 ohedfe w1 w2t 0w e 6
(FM 250 71=51 7 <ifem)

How far was the Industrial Revolution in England responsible for the decline of
handicrafts and cottage industries in India? (Answer in 250 words)

147 T o ) gt s & iR e s @ ¥ 9w s 9 wm-gen 9 AR w5 a2
(3 250 w=d) 7 Afsm)

The groundwater potential of the gangetic valley is on a serious decline. How may it
affect the food security of India? (Answer in 250 words)

157wt siefs i sfm At = 8 3 32 @fw W 0 (I 250 W=t & Afsm)

What are aurora australis and aurora borealis? How are these triggered?
(Answer in 250 words)

w1 87 AR A W e % e § e R w2 &
(IR 250 w2t & Aifem)
majority of twisters observed in areas around the
(Answer in 250 words

What is a twister? Why are the
Gulf of Mexico?
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